............

............

...............

............

............

s i jm

b
o
—

((6n02 Q)0

—

Al 111

_01 U

2

1

TP n (PCA to beamline)

0

b
o
—

(pes) @ Q)0

—

al e fe b b B M

_01 U
0.95
=3

TP n (PCA to beamline)

P % BT 8

P ]

, = 3 3 s
(wo) (P Q)0 oney

T [e2]

B R s oL Y RECEEY PRPEEEF AT P EPERPEE PP o

.................... Ol

..................................... o

—

...................... _

...................... o

|

N Liiiiii g li ro_o

T ~ ™ ) [Te)

5 5 5 2

— Ax — —

(w2) ("p 0o oney

TP n (PCA to beamline)

TP n (PCA to beamline)

(*d/'d 0)o

2 3

1

0
TP n (PCA to beamline)




	Contents
	Page 1


